

$$\lim_{x \rightarrow 0^+} x^x \quad \text{We have } 0^0$$

$$y = x^x \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln(x^x) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = x \ln(x) \quad \text{Bring the x down}$$

$$\lim_{x \rightarrow 0^+} \ln(y) = \lim_{x \rightarrow 0^+} x \ln(x) \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital  $\frac{\infty}{\infty}$

$$\lim_{x \rightarrow 0^+} \frac{\ln(x)}{x^{-1}} = \lim_{x \rightarrow 0^+} \frac{\frac{1}{x}}{\frac{-1}{x^2}} = \lim_{x \rightarrow 0^+} \frac{1}{x} \cdot \frac{-x^2}{1} = \lim_{x \rightarrow 0^+} -x = 0$$

$$\lim_{x \rightarrow 0^+} \ln(y) = 0$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow 0^+} \ln(y)} = e^0$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln(\lim_{x \rightarrow 0^+} y)} = 1$$

Because ln and e are inverses, just bring down the limit.

$$\lim_{x \rightarrow 0^+} y = 1$$

Replace y with its definition in terms of x.

$$\lim_{x \rightarrow 0^+} x^x = 1$$

$$\lim_{x \rightarrow \infty} x^{\frac{1}{x}} \quad \text{Here we have } \infty^0$$

$$y = x^{\frac{1}{x}} \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln\left(x^{\frac{1}{x}}\right) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = \frac{1}{x} \ln(x) \quad \text{Bring down the } \frac{1}{x}$$

$$\lim_{x \rightarrow \infty} \ln(y) = \lim_{x \rightarrow \infty} \frac{\ln(x)}{x} \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital because we have  $\frac{\infty}{\infty}$

$$\lim_{x \rightarrow \infty} \frac{\ln(x)}{x} = \lim_{x \rightarrow \infty} \frac{\frac{1}{x}}{1} = \lim_{x \rightarrow \infty} \frac{1}{x} = 0$$

$$\lim_{x \rightarrow \infty} \ln(y) = 0$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow \infty} \ln(y)} = e^0$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln\left(\lim_{x \rightarrow \infty} y\right)} = 1$$

Because ln and e are inverses, just bring down the limit. e gets rid of ln

$$\lim_{x \rightarrow \infty} y = 1$$

Replace y with its definition in terms of x.

$$\lim_{x \rightarrow \infty} x^{\frac{1}{x}} = 1$$

Watch the video version of this problem here:

<http://www.tomsmath.com/calculus-library---hard-limits.html>

Use THISISMAGNIFICENT as the password.

$$\lim_{x \rightarrow \infty} \left(1 + \frac{1}{x}\right)^x \quad \text{Here we have} \quad 1^\infty$$

$$y = \left(1 + \frac{1}{x}\right)^x \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln\left(\left(1 + \frac{1}{x}\right)^x\right) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = x \ln\left(1 + \frac{1}{x}\right) \quad \text{Bring down the } x$$

$$\lim_{x \rightarrow \infty} \ln(y) = \lim_{x \rightarrow \infty} x \cdot \ln\left(1 + \frac{1}{x}\right) \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital because we have  $\infty \cdot \infty$   
Here we have to use the chain rule on top and power rule on bottom.

$$\lim_{x \rightarrow \infty} \frac{\ln\left(1 + \frac{1}{x}\right)}{x^{-1}} = \lim_{x \rightarrow \infty} \frac{\frac{1}{1 + \frac{1}{x}} \cdot \frac{-1}{x^2}}{\frac{-1}{x^2}} = \lim_{x \rightarrow \infty} \frac{1}{1 + \frac{1}{x}} = \frac{\lim_{x \rightarrow \infty} 1}{\lim_{x \rightarrow \infty} 1 + \lim_{x \rightarrow \infty} \frac{1}{x}} = 1$$

$$\lim_{x \rightarrow \infty} \ln(y) = 1$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow \infty} \ln(y)} = e^1$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln\left(\lim_{x \rightarrow \infty} y\right)} = e$$

Because ln and e are inverses, just bring down the limit. e gets rid of ln.

$$\lim_{x \rightarrow \infty} y = e \quad \lim_{x \rightarrow \infty} \left(1 + \frac{1}{x}\right)^x = e$$

Replace y with its definition in terms of x.

$$\lim_{x \rightarrow 0^+} x^{x^2} \quad \text{We have } 0^0$$

$$y = x^{x^2} \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln(x^{x^2}) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = x^2 \cdot \ln(x) \quad \text{Bring down } x^2$$

$$\lim_{x \rightarrow 0^+} \ln(y) = \lim_{x \rightarrow 0^+} x^2 \ln(x) \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital because we have  $0 \cdot -\infty$

$$\lim_{x \rightarrow 0^+} \frac{\ln(x)}{x^2} = \lim_{x \rightarrow 0^+} \frac{\frac{1}{x}}{-2x} = \lim_{x \rightarrow 0^+} \frac{1}{x} \cdot \frac{-x^3}{2} = \frac{1}{2} \cdot \lim_{x \rightarrow 0^+} -x^2 = 0$$

$$\lim_{x \rightarrow 0^+} \ln(y) = 0$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow 0^+} \ln(y)} = e^0$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln(\lim_{x \rightarrow 0^+} y)} = 1$$

Because ln and e are inverses, just bring down the limit.

$$\lim_{x \rightarrow 0^+} y = 1$$

Replace y with its definition in terms of x.

$$\lim_{x \rightarrow 0^+} x^{x^2} = 1$$

$$\lim_{x \rightarrow 0^+} \cos(x)^{\frac{1}{x}} \quad \text{We have} \quad 1^\infty$$

$$y = \cos(x)^{\frac{1}{x}} \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln\left(\cos(x)^{\frac{1}{x}}\right) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = x^2 \cdot \ln(\cos(x)) \quad \text{Bring down} \quad \frac{1}{x}$$

$$\lim_{x \rightarrow 0^+} \ln(y) = \lim_{x \rightarrow 0^+} \frac{1}{x} \ln(\cos(x)) \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital because we have  $\frac{0}{0}$

$$\lim_{x \rightarrow 0^+} \frac{\ln(\cos(x))}{x} = \lim_{x \rightarrow 0^+} \frac{\frac{1}{\cos(x)} \cdot -\sin(x)}{1} = \lim_{x \rightarrow 0^+} \frac{-\sin(x)}{\cos(x)} = \frac{-\sin(0)}{\cos(0)} = \frac{0}{1} = 0$$

$$\lim_{x \rightarrow 0^+} \ln(y) = 0$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow 0^+} \ln(y)} = e^0$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln\left(\lim_{x \rightarrow 0^+} y\right)} = 1$$

Because ln and e are inverses, just bring down the limit.

$$\lim_{x \rightarrow 0^+} y = 1$$

$$\text{Replace } y \text{ with its definition in terms of } x. \quad \lim_{x \rightarrow 0^+} \cos(x)^{\frac{1}{x}} = 1$$

Watch the video version of this problem here:

<http://www.tomsmath.com/calculus-library---hard-limits.html>

Use THISISMAGNIFICENT as the password.

$$\lim_{x \rightarrow \infty} \left(1 + \frac{P}{x}\right)^x \quad \text{Here we have} \quad 1^\infty$$

$$y = \left(1 + \frac{P}{x}\right)^x \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln\left(\left(1 + \frac{P}{x}\right)^x\right) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = x \ln\left(1 + \frac{P}{x}\right) \quad \text{Bring down the } x$$

$$\lim_{x \rightarrow \infty} \ln(y) = \lim_{x \rightarrow \infty} x \cdot \ln\left(1 + \frac{P}{x}\right) \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital because we have  $\infty \cdot \infty$   
Here we have to use the chain rule on top and power rule on bottom.

$$\lim_{x \rightarrow \infty} \frac{\ln\left(1 + \frac{P}{x}\right)}{x^{-1}} = \lim_{x \rightarrow \infty} \frac{\frac{1}{1 + \frac{P}{x}} \cdot -\frac{1 \cdot P}{x^2}}{\frac{-1}{x^2}} = \lim_{x \rightarrow \infty} \frac{P}{1 + \frac{P}{x}} = \frac{\lim_{x \rightarrow \infty} P}{\lim_{x \rightarrow \infty} 1 + \lim_{x \rightarrow \infty} \frac{P}{x}} = P$$

$$\lim_{x \rightarrow \infty} \ln(y) = P$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow \infty} \ln(y)} = e^P$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln\left(\lim_{x \rightarrow \infty} y\right)} = e^P$$

Because ln and e are inverses, just bring down the limit. e gets rid of ln.

$$\lim_{x \rightarrow \infty} y = e^P$$

$$\text{Replace } y \text{ with its definition in terms of } x. \quad \lim_{x \rightarrow \infty} \left(1 + \frac{1}{x}\right)^x = e^P$$

Correction: Instead of 1 over x, it should be P over x in the last line.

Watch the video version of this problem here:

<http://www.tomsmath.com/calculus-library---hard-limits.html>

Use THISISMAGNIFICENT as the password.

$$\lim_{x \rightarrow 0^+} \sin(x)^{\sin(x)} \quad \text{Here we have} \quad 0^0$$

$$y = (\sin(x))^{\sin(x)} \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln(\sin(x)^{\sin(x)}) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = \sin(x) \ln(\sin(x)) \quad \text{Bring down the } \sin(x)$$

$$\lim_{x \rightarrow 0^+} \ln(y) = \lim_{x \rightarrow 0^+} \sin(x) \cdot \ln(\sin(x)) \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital because we have  $0 \cdot -\infty$

$$\sin(x) = \frac{1}{\frac{1}{\sin(x)}} = \frac{1}{\csc(x)}$$

$$\lim_{x \rightarrow 0^+} \frac{\ln(\sin(x))}{\csc(x)} = \lim_{x \rightarrow 0^+} \frac{\frac{1}{\sin(x)} \cdot \cos(x)}{-\cot(x) \cdot \csc(x)} = \lim_{x \rightarrow 0^+} \frac{\cot(x)}{-\cot(x) \cdot \csc(x)} = \lim_{x \rightarrow 0^+} \frac{1}{-\csc(x)} = \lim_{x \rightarrow 0^+} -\sin(x) = 0$$

$$\lim_{x \rightarrow 0^+} \ln(y) = 0$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow 0^+} \ln(y)} = e^0$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln(\lim_{x \rightarrow 0^+} y)} = 1$$

Because ln and e are inverses, just bring down the limit. e gets rids of ln.

+

$$\lim_{x \rightarrow 0^+} y = 1$$

$$\text{Replace } y \text{ with its definition in terms of } x. \quad \lim_{x \rightarrow 0^+} \sin(x)^{\sin(x)} = 1$$

$$\lim_{x \rightarrow 1^+} x^{\frac{1}{x-1}} \quad \text{We have } 1^\infty$$

$$y = x^{\frac{1}{x-1}} \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln\left(x^{\frac{1}{x-1}}\right) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = \frac{1}{x-1} \ln(x) \quad \text{Bring down } \frac{1}{x-1}$$

$$\lim_{x \rightarrow 1^+} \ln(y) = \lim_{x \rightarrow 1^+} \frac{\ln(x)}{x-1} \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital because we have  $\frac{0}{0}$

$$\lim_{x \rightarrow 1^+} \frac{\ln(x)}{x-1} = \lim_{x \rightarrow 1^+} \frac{\frac{1}{x}}{1} = \lim_{x \rightarrow 1^+} \frac{1}{x} = 1$$

$$\lim_{x \rightarrow 1^+} \ln(y) = 1$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow 1^+} \ln(y)} = e^1$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln\left(\lim_{x \rightarrow 1^+} y\right)} = e$$

Because ln and e are inverses, just bring down the limit.

$$\lim_{x \rightarrow 1^+} y = e$$

$$\lim_{x \rightarrow 1^+} x^{\frac{1}{x-1}} = e$$

Replace y with its definition in terms of x.

$$\lim_{x \rightarrow 1^+} x^{\frac{1}{1-x}}$$

$$y = x^{\frac{1}{1-x}} \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln\left(x^{\frac{1}{1-x}}\right) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = \frac{1}{1-x} \ln(x) \quad \text{Bring down}$$

$$\lim_{x \rightarrow 1^+} \ln(y) = \lim_{x \rightarrow 1^+} \frac{\ln(x)}{1-x}$$

Find the limit on the right using the rule of L'Hopital because we have

$$\lim_{x \rightarrow 1^+} \frac{\ln(x)}{1-x} = \lim_{x \rightarrow 1^+} \frac{\frac{1}{x}}{-1} = \lim_{x \rightarrow 1^+} \frac{-1}{x} = -1$$

$$\lim_{x \rightarrow 1^+} \ln(y) = -1$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow 1^+} \ln(y)} = e^{-1}$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln(\lim_{x \rightarrow 1^+} y)} = e^{-1}$$

Because ln and e are inverses, just bring down the limit.

$$\lim_{x \rightarrow 1^+} y = e^{-1}$$

$$\lim_{x \rightarrow 1^+} x^{\frac{1}{1-x}} = e^{-1} = \frac{1}{e}$$

Replace y with its definition in terms of x.

$$\lim_{x \rightarrow \infty} (\ln(x))^{\frac{1}{x}} \quad \text{Here we have } \infty^0$$

$$y = (\ln(x))^{\frac{1}{x}} \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln\left((\ln(x))^{\frac{1}{x}}\right) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = \frac{1}{x} \ln(\ln(x)) \quad \text{Bring down the } \frac{1}{x}$$

$$\lim_{x \rightarrow \infty} \ln(y) = \lim_{x \rightarrow \infty} \frac{1}{x} \cdot \ln(\ln(x)) \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital because we have  $\frac{\infty}{\infty}$   
 Here we have to use the chain rule on top and power rule on bottom.

$$\lim_{x \rightarrow \infty} \frac{\ln(\ln(x))}{x} = \lim_{x \rightarrow \infty} \frac{\frac{1}{\ln(x)} \cdot \frac{1}{x}}{1} = \lim_{x \rightarrow \infty} \frac{1}{\ln(x) \cdot x} = 0$$

$$\lim_{x \rightarrow \infty} \ln(y) = 0$$

Exponentiate both sides.

$$e^{\lim_{x \rightarrow \infty} \ln(y)} = e^0$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln\left(\lim_{x \rightarrow \infty} y\right)} = 1$$

Because ln and e are inverses, just bring down the limit. e gets rids of ln.

$$\lim_{x \rightarrow \infty} y = 1$$

$$\text{Replace } y \text{ with its definition in terms of } x. \quad \lim_{x \rightarrow \infty} (\ln(x))^{\frac{1}{x}} = 1$$

$$\lim_{x \rightarrow \infty} (1 + 2x)^{\frac{1}{3 \ln(x)}} \quad \text{Here we have } \infty^0$$

$$y = (1 + 2x)^{\frac{1}{3 \ln(x)}} \quad \text{Rewrite as a function}$$

$$\ln(y) = \ln\left((1 + 2x)^{\frac{1}{3 \ln(x)}}\right) \quad \text{Take the natural log of both sides}$$

$$\ln(y) = \frac{1}{3 \ln(x)} \ln(1 + 2x) \quad \text{Bring down the } \frac{1}{3 \ln(x)}$$

$$\lim_{x \rightarrow \infty} \ln(y) = \lim_{x \rightarrow \infty} \frac{1}{3 \ln(x)} \cdot \ln(1 + 2x) \quad \text{Apply the limit}$$

Find the limit on the right using the rule of L'Hopital because we have  $\frac{\infty}{\infty}$   
Here we have to use the chain rule on top.

$$\lim_{x \rightarrow \infty} \frac{\ln(1 + 2x)}{3 \ln(x)} = \lim_{x \rightarrow \infty} \frac{\frac{1}{1 + 2x} \cdot 2}{\frac{1}{x}} = \lim_{x \rightarrow \infty} \frac{2}{1 + 2x} \cdot \frac{x}{3} = \frac{2}{3} \cdot \lim_{x \rightarrow \infty} \frac{x}{2x} = \frac{2}{3} \cdot \frac{1}{2} = \frac{1}{3}$$

1+2x is just like 2x when x is big

$$\lim_{x \rightarrow \infty} \ln(y) = \frac{1}{3}$$

Exponentiate both sides.

$$\lim_{x \rightarrow \infty} \ln(y) = \frac{1}{3} \quad +$$

$$e^{\lim_{x \rightarrow \infty} \ln(y)} = e^{\frac{1}{3}}$$

Because ln is continuous, bring the limit inside the function.

$$e^{\ln\left(\lim_{x \rightarrow \infty} y\right)} = e^{\frac{1}{3}}$$

Because ln and e are inverses, just bring down the limit. e gets rid of ln.

$$\lim_{x \rightarrow \infty} y = e^{\frac{1}{3}} \quad \lim_{x \rightarrow \infty} (1 + 2x)^{\frac{1}{3 \ln(x)}} = e^{\frac{1}{3}}$$

Replace y with its definition in terms of x.

Below is a list of the online programming courses I've made and other booklets I've published.

Use this link to access a library of 500 math videos:

<http://www.virtuallymath.com/category/learning-resources/>

Learn Microsoft C# Programming:

<http://www.udemy.com/csharpbasics>

Use Coupon:

<https://www.udemy.com/csharpbasics/?couponCode=getitnow>

There are 151 Students Enrolled Already

Learn the Fundamentals of JavaScript:  
<http://www.udemy.com/learnjavascript>

Learn the Fundamentals of Visual  
Basic.NET  
<http://www.udemy.com/mastervbdotnet>

Adding Fractions Visually  
<http://www.amazon.com/dp/B00IWL9GWM>

Basic Probability, A Pictorial Approach  
<http://www.amazon.com/dp/B00HZUUZJE>

65 Detailed Examples of Using the Chain  
Rule  
<http://www.amazon.com/dp/B00HY066ZS>

11 Detailed Examples of Tricky Limits in  
Calculus  
<http://www.amazon.com/dp/B00IGNAVB6>

Topic: Writing and Manipulating One  
Variable Expressions  
<http://www.amazon.com/dp/B00HVTWFDI>

35 Detailed Examples of U-Substitution  
in Integrals  
<http://www.amazon.com/dp/B00HXR5PT0>

Manipulating One Variable Equations, A  
Pictorial Approach  
<http://www.amazon.com/dp/B00I4GJASU>

Understanding Scalar and Vector  
Projections  
<http://www.amazon.com/dp/B00I1QZ2W6>

25 Detailed Examples of Finding Function  
Averages  
<http://www.amazon.com/dp/B00IB6RMOW>

Understanding Partial Derivatives  
<http://www.amazon.com/dp/B00I7H0RXI>

Understanding ANOVA

<http://www.amazon.com/dp/B00I89Y9L6>

46 Examples of Finding Limits with L'hospital

<http://www.amazon.com/dp/B00I9RGD2K>

22 Detailed Examples of Improper Integrals, with 27 Pictures

<http://www.amazon.com/dp/B00ICTMNW4>

Understanding Word Problems

<http://www.amazon.com/dp/B00IKZ80VS>

Understanding and Finding Partial Derivatives

<http://www.amazon.com/dp/B00IEP7DDA>

Manipulating Equations in Two or Three Variables

<http://www.amazon.com/dp/B00HPQZ9VM>

27 Detailed Examples of Sequence Limits

<http://www.amazon.com/dp/B00IE08UUU>

23 Detailed Examples of Integration by Parts

<http://www.amazon.com/dp/B00IF0R0VE>

Power Series Examples

<http://www.amazon.com/dp/B00IJEMKHK>

Drawing Parametric Curves, a Sequential Approach

<http://www.amazon.com/dp/B00IIHKOYE>

17 Detailed Examples of Solving Absolute Value Equations

<http://www.amazon.com/dp/B00IJRXWHO>

Understanding Concentration Problems Visually

<http://www.amazon.com/dp/B00I12PTVO>

Understanding the Coefficient of

Determination

<https://www.amazon.com/dp/B00I6SRSLM>

12 Examples of the Power Rule in  
Calculus

<http://www.amazon.com/dp/B00ILHS6T6>